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L »mwn n™as mYary pomnwy 0™
a.  Source for nvpw: vl (1) from v2 (not from v3 — which includes nwn)
b.  Challenge to 537 should be from 10 of month
c.  Answer: follows np112 12 111 1 YW 11 HRYNY "1 following v1 ()
i. Reads it as: description of period between »»wn n" and >"nv
ii. 227 v1 (°) 2only sanctify years, not months
iii. Supporting xm773: R0 9av (v1 &) excludes tail end ( n”1->3"nv of the following year)
1. Ao since we add to w1p from 9 at onset...
2. 1227 (who don’t maintain wTpn Y 570 Parom at the onset
a.  Therefore: have no need for V10 to exclude it at end)
b. Used: contra N’ "1 who reckons 50t year as belonging to both cycles
i. Meaning: end of 1%, beginning of 2"d) — &0 Y21 > year reckoned once
iv. source: for wIpn Yy YINn ParoIN
1. y”r v4: w1 refers to 6™ year going into 7%; 1xp refers to 7t year into 8™
2. Snvpwr 71 (excludes myp 5w 1¥p): derives from v5
a. y”1 uses v5-> eating on 9t and fasting on 10t :: fasting both days
d. Aap71z interpreting ®n %2y (which requirement generates %2y nw1Tp?)
i. /M 72 only freeing slaves is a sine qua non for 9av to occur
1. Awverse: is only interpreted to most recent explicitave verse: 1777 onRI» =freedom
ii. ’p» 77 only 199w nY'pn is a sine qua non for 9av to occur
1. Since: 19w ny’pn is necessary and in the hands of 772
a.  Unlike: m72 Mm% on both counts
b. Verse: is interpreted from earlier explication — ("0: 997w omaym...)
iii. o2pom: freeing slaves, mypp nvnw and 19w ny>'pn are all indispensable for Y2y to occur
1. Text: is interpreted via all accessible explications
a. Immediately before: freeing slaves
b.  Earlier: 919w
c.  Afterwards: mypIp nonw:returning property
2. Text: of ®n Yav — indicating that it is Y2v regardless — is used to expand to Y"n
a.  pwna(vl v): > only when Yav is practiced in »"® does it manifest in 5"
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